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1 ZH 745 776 1,521 709
2@/ % 468 504 972 389
3 fit 540 623 1,163 490
4 B 119 127 246 116

5 {85 884 881 1,765 800

6 & 127 143 270 121

7 hB 23 35 58 37

8 dtFE/\Rd 349 369 718 334

9 mfE/N\E 448 486 934 465
10 HEH 449 494 943 413
1M eEH 134 147 281 123
12 /2 356 395 751 345
13 B# 323 340 663 306
14 7 978 1,093 2,071 951
15 | 198 226 424 184
16 239 238 477 268
17 #ade 110 128 238 105
18 LA 251 304 555 249
19 B8 160 167 327 159
20 #Rig 118 137 255 123
21 H4H 271 287 558 242
22 hA{RH 197 212 409 190
23 AN E—TH 608 649 1,257 511
24 tANE-TH 484 549 1,033 399
25 txA\E=TH 595 697 1,292 559
26 AR TH 594 685 1,279 561
27 TZARO—T 192 221 413 170
28 @w/E(I) 4 17 21 20
20 w/E(I) 8 14 22 22
30 Bk 20 1 21 21
31 HE—TH 0 0 0 0
32 XEZTH 36 34 - 70 41
33MEZ=TH 1 0 1 1
34 S5 TH 681 720 1,401 618
35 EERTH 333 381 714 301
36 EXRTH 756 856 1,612 615
37 XEBELTH 732 749 1,481 646
38 XB/N\TH 643 726 1,369 537
39 XBNATH 403 397 800 285
41 RERE—TH 700 683 1,383 666
51 FES—TH 534 511 1,045 371
52 EELR_-TH 462 518 980 370
53 FES=TH 543 588 1,131 443
54 FFESMTH 757 802 1,559 558
55 HERSRTH 606 633 1,239 343
56 FES/NTH 0 0 0 0
57 HESLtTH 0 0 0 0
58 FES/\TH 0 0 0 0
59 BFER/NLTH 0 0 0 0
60 BEES—THNF/* 138 167 305 127
61 WEAS_-_THAVT R 91 111 202 83
62 7AX¥=—y¥a, a—} 145 172 317 121

X & B X 17,553 18,993 36,546 15,508



